
 

 

Answer on Question #44533 – Math - Algebra 
 

Task: 

Consider the sets A = {3x|x∈ 𝑍}, B = {𝑥 ∈ 𝑄|−5 ≤ 𝑥 ≤ 10}, C = {factors of 20 in Z}. 

Represent 𝐴 ∩ 𝐵, 𝐵𝐶 ∪ 𝐶 and 𝐶\𝐴 by the listing method and in a single Venn diagram. 

Solution: 

𝐴 ∩ 𝐵: 

𝐴 =  {0, 3, −3, 6, −6, 9, −9, 12, −12 … }; 

𝐵 =  {𝑥 ∈ 𝑄|−5 ≤ 𝑥 ≤ 10} = {−5, … , −3, … , 0, . . . , 1, … , 3, … , 6, . . . ,9, . . . , 10};So, 𝐴 ∩ 𝐵 = {−3, 0, 3, 6, 9}; 

𝐵𝐶 ∪ 𝐶: 

𝐵 =  {𝑥 ∈ 𝑄|−5 ≤ 𝑥 ≤ 10}; 𝐶 =  {1, −1, 2, −2, 4, −4, 5, −5, 10, −10, 20, −20}; 

𝐵𝐶 =  {−5, −4, −2, −1, 1, 2, 4, 5, 10}; So 𝐵𝐶 ∪ 𝐶 = {−1, 1, 2, −2, 4, −4, 5, −5, 10, −10, 20, −20},; 

C\A: 

𝐶 =  {1, −1, 2, −2, 4, −4, 5, −5, 10, −10, 20, −20}; 

𝐴 =  {0, 3, −3, 6, −6, 9, −9, 12, −12, 15, −15, 18, −18, 21, −21, … }; 

𝐶\𝐴 =  {1, −1, 2, −2, 4, −4, 5, −5, 10, −10, 20, −20}; 

Venn diagram: 

 

Answer: 

So, 𝐴 ∩ 𝐵 = {−3, 0, 3, 6, 9} 

𝐵𝐶 ∪ 𝐶 = {−1, 1, 2, −2, 4, −4, 5, −5, 10, −10, 20, −20} 

𝐶\𝐴 =  {1, −1, 2, −2, 4, −4, 5, −5, 10, −10, 20, −20} 
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